110 3R 8

SRR IS ELENE.

F] -
2p 2l & a3 a2 9
cpgm | P RRRELEpE | T SANNNFTTY"
P N o x s B 5y 63
3 5 F] I3 2 i ;‘&?Fzﬁ;;

%?};’F?ifi‘%ﬁ‘!p\giié’;}éi Fay%J(%é)‘r%E#;,ﬂ:} (4 %) I’m”», bt”il—’%J(lL
BT H3 ciEzt, () Ew BE Ao
k& A EH D ST T
l.wP(“ﬁéwT(ﬁ@&M§>eiquﬂe T(E B R)o

2. =1 (HHFhEM) D27 (FEFEHIE) D Ck2HEHF)D> T FEFER)
3 2 () 2T H(ZFERE) > 1 (Fifrvirhd i
4. T (B3 aFit) DR (B)

k & H AP Ao

[~FrF]

KRR AR gt ﬁ;’?’#*f‘«&fr%fiiﬁt%ﬁﬂ%i«:*i"lfﬁfi%ﬁ°573
€ FlThE DERETEE A %r*r*m%ﬁ TR NS A BT AF R o E
WM A [BFESAN AB AT SR FEET MR IB R e AL EEY
[+ 7]

AEFSERBES L300 AFHEF PR TG LIV FaH i o B
ﬁﬁ#gﬂ@wmmwzka¢1Fm@f1\ovmﬁﬁ%%ﬁ B A A R R 5N o
PR RFHE a0 2 & Rk 2R MR -

[z F &%)

KA R i BRTEREFR &R %3 fro § PROEL . DRBVWER L > o
WENZ R F 0 BB R YR BEREZ R F 0 RV RPUEH L E
[ %5 9dFt]

TfEEE EdRB A R e B A B +1\§3ﬁgzkog@@
FHELE 1 REEFEOPFT RIT o Sl F0 ¥ Lk fr®F > 10 3y
¢ ¥

s G

R EET R

AEREPARTPCE LW S

ls£ﬂ1ﬁﬁ?zf,ﬁﬁwﬁﬁ%ﬂﬁa’%ﬁ%%w\f%J%%ﬁfé%o
Wi BA2 % 5% R4 o KB B3~ LY@ hF A S B o g SRR

TR AL R TR I R p e el B ik %‘ﬁffﬁﬂ;%?gm* FARRTRE LR
Bz m@pasdd 637 bamhsh s BIpSRES S .
Wi -E-A3 £ HEEF» LB F AP TN AL S i R TR &
EFF 0 RMPES T B R LT YBENEHRE  AHER %ﬁ~@’@“5%?§?%°
Wi BBl iiadr s IEHE @ fHEEEE 2 B § b AP E TS0 1)
PRPEAVGN AT E 2 B ERAT S S LR RF N WE S 22T
AR~ FIME N K o
W E-B2 it 0 RfL3e 2 SAemEr & 2 FECEY R p YRR R PE Y - p KR
2R > RN EE G BNFEL TR o
Wi E-BS &7 F Richpg ﬁkiﬁﬁ9mﬁﬁ#?é%m@’%ﬁ%@ﬁiiﬁiﬁo
Wi ECl 2848HpR -BE2E ‘.;%—Bxﬁ Rl Nl S
Wi E-C2 SEHFE2AENLTEY  BESF REL LT B L T2 foabp i 4 o
Wi -E-C3 SERBAPMARIDTY ~ i 0 fF2TR P RS TR REE

e

JIJ




110 BRfEG T2

ERE 4

¥ £ gk

s

IEFY MR

INa-Tl-4 z ¢ 27 b F MorEs > 25273
VR HEehlE B o F MR - RehA R B A o
INa-II-9tE 4~ # & =7 % ehdk A B gd k& 150 gk
Bk k¥ o

INb-TI-5 # 34 Ed mresried » B4 d mie ~ B
FTRREMEA FAOES e
INb-II-T HE4~ & 8 eitpig {o 7 2 G e v G B
PR AL Pl M RERE
INb-TI-84 4 ¥ ik H A) i $ it (7 4 4F o
INCc-TI-2p 2R A &8 2 ¢ § ABehd + & do| % P
() "EFF < Jur gl zkidno
INc-M-9 7 F Tk ik 2 B2 $ e fAagiesr
T NME ARG GG Fa A7 s

p
S0

INc-I-13 P
INc-1I- 15ﬁE
FiT oo

INe-TM-3 #+4E 2pn Fo2 § 2167 M g » who s
FIRREFERT P e s T PREE - BE

.
hES

-
PR

I p
”J%'I"Q?\»

INe-T-6 %3 < ~FHEFdEARPT 4
YRR BIOEFLA O RFT UBIL e
INe-T-7 kT d 2 d ke o
INe]]IlZﬂ‘,fmA\ﬂf RERI-ES ¥ A ¥ 2
W RBEH L EHPL HNEY ol g

INe-TM-13 A f& kP AH B A F P Fean 3 ir
o5 FA 4 foiid g 2 o
INf-TT-3 p AN 2 & e I i
B o

INf-IT-4 ~#p ¥4
B %
INg-TI-6 & & g kK & Frar i £ B g id o
INg-II-1 p X3 BEAckB - L 2o % & B0k o IR
e

[Ng-I-2 * $gisde

LI IR RO LY - Rl
INg-TI-3 # # % {44
S SEAE L NE S -F
INg-T-4 * sgeEd ¢ i3
BT

S+

AEEA R

=
u:":l

A7 ik AR e, KARELS il I L

E

H {

‘iﬁﬁﬁifr
AREEE R M @ %%%%‘\

lé\: 7;/’_: il;f %‘%% ’ 4\';}3']444?‘%:‘{ Ié;‘zb\

At

4 lpa-M-2i j& (7 ) T3

BT R R ¢

_l;]%;‘%’_{];:b;I%* é‘—l g___?}_ ’T'Hb 'z:;llj%»b frn‘l%i?—ﬂ”
BRI L A R
TR S TEIE N R

mm4ﬁms 2o A PTELR fehkehp AR EY
S R S Y SU e e e 2 L

e 2 2 i Hrs A cnd B oo

tc-1I - IBET"Ti%m&%E A TR E kS
AHE 0 £ ALY @ i LY T L R
FRU[ B A T REERF LR o

pe-M-1 4 7 f3p %38 - REEILIFRCHFET &
PEIre T g T BEPRROLE - ARFS KPS
b EARM T i RE O A A R
P AL ~ TR (KA E) DF RFFF R
DI EIFEL B o

pe-M-2ic &+ /E% 24 (T EF YV IFE P 5~ B
%@~%ﬁ£%?gﬁou@m%ﬁm?ﬁﬁwé
e B P TR o
pa-T-1a; &~ #7\  die ~ G iTH & ~F*
% BIR e § AN iy o
PFTHA ~ AT % B T~ fRAR R -
ROAL o Hap ep L R T R R o A
ek pRE) VCRER RAMTHEL AT
s & o
ai-M-1:3% & F 45

]4 m—z‘r

k|

Y

A

(R TR

2
& F AT
et & (&)

7 AP

EREEEN 3 Sel=gy Rl S 1k

434 o

ai-M-2% @ F# PP FFERGH R X p RAPLEEY
s -

ai-M-3%-2 & 8 ¥ F 8k FF LFa3 B 5%
£y g s s

ah-I-19] % 8 fog @z p o 2 FRAET R -
aN-TT-2:5 56 44 8 45 § 7% B f3 74— 304 2 78 g g

MT-135 @ L8 4 e 8 o
El %/.\_: “ﬁ mq_,';ﬁ ’f‘-"(zﬂ.&‘% °

an-M-2% F37 F P H i kB 2 H
RHE NGRS &I

an-M-3 7 #miEs) ~ ¥ F ~ 5%

R

TR e e AR

y A /\‘F’K?:‘,\)é%ﬂ.%}

gy

P&




110 BRfEs T2

-~
Lo 7 f#m sk bk B kp <1 o
2. FIE T A e > E FKEE./FJ NEBahB REEE S o
3. A WIS F%eﬁlﬁbz%m%p
4BV HFEIBRHBEAIFIH ) TEIB R RS RDZEY o
= S R
.d F%RR2 - F% BHFE T BEFR S E ST R EES DA o o
.RBEFYEF AT BN 2 B A RS N
S EWHERRFIY ¥ AEFE-E >  BAMSEBROER -
4 m=a- PHEyPAFIL2EY 255
SEFERR
L#d % R L RES fro § MR -
2.?%&?%@1&%%‘?—%1%&*”‘;‘%0
3. FREEEEIE 2 o I * B iR Ao B L eh 2 o

N S L T
1. B (59 5% ﬁ*#@*"#’eﬁv’;\ﬁw
2.0 FHITHFT B ABEETF R L) e oo

A PR

4. BB FETPERIT X2 @Eil??s?%%% °

.Irﬁ*i*p*q\?\ﬁ_\fu\%? %ﬁ_—ymﬁ;lglﬁbo
TR R A 2 Y - L2 RpHE RS
R e s g AN S e
CREERITE F oo R o
AR R ILE M R 2 B RE AR
Crip PR R R IS ERP AL

Fep g e

10, e fU* B2 cnp@ @ ie- BfEanBEo

@OO\"IO?.O'I»-BOON'—‘

CEBRES R R A RRIE o e bhiziaesiiaias SRR .
g A B A ArITRBI IR FOR 0 i < f%pwﬁ—J,ZmI“BZP&o
TR SR frr RSB YRFLL s TR EHITHR S AMI T I -

;8
R A AR B L R

I——E' ]3\ R la':?-ﬂs —\(g’ > ;L—E-_%]f] . 3 )—(\Zlfr,—é,l_é\ L /]}]J)

:) I I K=
T A1 =E (40%) T AL =E (40%)
- 1 H~=- z58%4&
Hx- #Haor i H 2w B35 adE:s
TP R 4 (6096) T pF = 4 (6090)
TR~ F R ARE v EEARE PRI IT )| TR TR rFFEE P S&KEF R
B g T LefhRiFE-- 5 0 ~mE v 5 A
REFY TR
EHEY GEFEHFE*TERET o) 2 HEY pAFYV(H I RIEY T T R)
CISCO WEBEX PEF R RRE
https://meet89. webex. com/meet/pr1585090696 [35- %~ T >
£ % — 3 h#k=T 5 ONECLASS

GOOGLE MEET
meet. google. com/pbm-eu ja-jks




110 BRfEG T2

e 35 %;'\"
= ?fp LR KEER G Sy Jff'»%% TR
i 1 ﬁﬂ)‘?iaﬁi g*“ﬁ‘?
age e (17l - 220 p -E-A2
- 9/1-9/4 N r Y il Bk 2 (v g A -E-A3
/" &7 X B ke thip | BBl
1_1_%76{‘]!;%}&}1{?,‘56%’#?%?1 B -E-B2
= | 95911 b e g | R SR AU T OB (5 -E-B3
b ” FUERR D e R Ed- X & |5 B3
- 9/19-9/18 12w 2 p2p |- BRFFSBHE DN (5 -L02
B g i A0 FEFTLE A AT
——— 12 T EARABAFT (Bapn
_ . =l Lol R G
e | 919925 | He-  [TEEERARE i PR
i SRk * TEpEE(GREH A |E R
: 234 3) BEBKT
L A C 2—2—3” A
7| 9/26-10/2 13 4ppga e (X SEFREVE YIRS LR ST
) WBRE R R B MR
7 #>
B s e A -E-Al
= | 10/3-10/9 2 H’B‘i TR e de LHER |5 EA2
AL Tl TR A | §-E-A3
. 2-1 fo 4 g & (B4 (T T LK e dr | -E-Bl
= | 10/10-10/16 o F RO chfs 6 N R |5 BB
o o | FREIp ES A g E-C2
~ 1 10/17-10/23 | 4 o 9-9 & 4 % 7 %};{&%;ﬁf; 51 %%}
4102410730 | oy | 23 gEF R P TS @@zﬁzo , ;]g;%
ETEA g e | X TETEREGREF A BREKT
R ) 3979 it 4 T
.| 10731-11/6 * HhREE (L3 MRS R TAL T P
¢ e EEL SN H R 0 Em ’3)3'35%\
R * LI (B ‘aﬁ;k.@g“%fgﬁ@
TF) Q
- | 11/7-11/13 3-1% & * FieEE A -E-A2
P ETVIYWTYTR Ty 1T EREHBUCT [5op
Lo ¥ AR F 2§ i TR (p-E-Bl
= | 11/21-11/27 3-2 - F it WSk %’%@5@ i -B-C3
. Dok Jid vEy 2 X s E ”‘E‘J‘fl‘) B R Fr ol AT 4 -
L | 11/28-12/4 3-3 g L *ff)\ o )\?J ol s P >
¥z i LEg v |80 e
ES R RAEKT
* CEEE (REF A [3-2-2 WA FRITH
L1 | 12/5-12/11 3-3 s s 234 MRS e TEAL T ST
* fhk g (£ et E SNECE I £
x AEER(EVE -~y | BEEAFHFENL
%) =
L2 [ 12/12-12/18 414 B2 R |k @ ez BH?
- _ , 9 M ik Ea R BigFRF L [P
- L/l B = ﬁyi m% iL ig %‘* i B ,fﬁljj;gl " A -E-Bl
= | 127267171 | e gt | A2 BB R g s g e ﬁm} i -E-B2
13+ d §2 Eeh|dnpTes 5§ 4o | EC
-4 1/2-1/8 0 B3 ] F4




110 BRfEs T2

HEERR O E,‘W‘ BHEOFREE FEaa
A w ) A
gw ¥ o Rad (R
BRLE * fhRFE (L5
X KEZR(EYE -
%)
p -E-B3
io-tsgp [PRICTRIRRARARE SR E RS R i
» AT b {7 AL R IE 2 3% B f -E-C3
FEEFF DA FR

5 R _\-——"f\
RN E =3

T W& 4w XX
I.T_@'»q.?

Raise your hand if you have any questions.
Speak up. Look at the front. Look at the board. Listen carefully.
Could you please repeat it? I don’ t understand it. I have a question.

g 3 Lﬁi“%

#1822 (Scientific Method)

BL% Observe># I Ask a Question>3E 8| Make a Predition—>

37 %3+ 4 Make aPlan>34 73+ % Make a Plan=> % 4+% % Record the Results
S>E RI(E % #:3+4) Try the Plan Again2>4#% ' %% Draw a Conclusion.

*FL B 47 1 842 (scientific inquiry process) '

1~ %#EBET v | = )

(confirmation inquiry) | ﬁ tamphors
| conmect e ) Vinvetigete

VAR L o

2 55 f# i 5 4 % Inquiry Cycle =

(structured inquiry) < | 7

B I -

(guided inquiry) Vg ’ o

s 5o o Q’ L |Ic:.:|=

4~ B % 'ri*f ;E xIlV_A_l: i share @

‘;-\J" | (lz.. - e

(open inquiry) N | |

LB e it %% (Science Process _Skill Instruction)

(D% (0Observing); (2)# & (Measuring): ()& * Z B /& aobd 2 (Using
space time relationships) ; (4) @£ (Communicating) ; (5)4 #f
(Classifying) ; (6)7gRI(Predicting) ;5 (7)) * #= (Using numbers) ;
(8)4a#% (Inferring)

Unit 1

Sun &
Solar
System

*The Solar System = I %

(Mercury. Venus. Earth. Mars. Jupiter. Saturn. Uranus. Neptune)
XOur Moving Earth # 3% endd &

(Day and Night. Why Seasons Happen?)

*Solar Energy (Solar Cookers) K[5aERYIEH

Key Vocabulary:



https://www.solarcookers.org/

110 RfEs ==

axis. orbit. star. rotation. planet. spring. summer. fall. winter

Unit 2
Plants

*Part of a plants {E4 g faFn i

*Flower Anatomy f=:#i¢ (petal. Sepal. pistil. pollen. stamen)
XWhat plant parts can you eat?e 4= & * ¥t 4

*Plants make new plants. f£4 % 7 XHow else do plants grow?
*Plant dichotomy &4 = 4 %

Key Vocabulary: leaf. stem. root. flower. fruit. Seed. Pollen.
Seedling. Life cycle. traits

Unit 3
Air
(02 CO2)

¥Air is a matter. It has mass and takes up space.

XWhat are some properties of gas.

*What are some properties of Oxygen.

XWhat are some properties of Carbon dioxide.

*fire and burning

XFor a fire to occur, four components must be present: fuel, oxidizing
agent, heat.

Key Vocabulary: Oxygen. carbon dioxide. Fire. Burning. Fuel. heat.

Unit 4
Sound

¥What makes sound? # % f T

*How are sounds different? #4 = & 2 (
*What do sounds move through? %35 nﬂ@
*Keep the noise down! wkf &2 %3
*Musical instrument #F= ~ FE(F 2 F £ F -7 F)
(Wind instrument - string instruments - percussion instruments)

mls
(g
N

> 2
\'—qé% N

(*ww\ -E“?

Key Vocabulary:
Sound. Vibrate. Pitch. Volume. Timbre. Noise.
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22 40 e —*%‘f? %*’;‘; ;; - %
PR E
31 RE LY ZIETR R
T P B (= STg ,
6/19-6/25 * rﬂiﬁ")ﬁ%
X S5~ gl gl
#xL * %R (2 50)
x AL =g (FY
H -y %)
ol < = 3 el = F ﬁﬁ-’».
bk [P P ERT R | T
, ¥ & f.% %34 B MAKER—41 5 |1 7 B e 7 TR
S - | 6/26-6/30 [T ok o e TAR NPy 34
b S SERCE £ S PEFLwD PpEr o~ F Y
: AR TS ks
IR EE
EENCAN Raise your hand if you have any questions.

Speak up. Look at the front. Look at the board. Listen carefully.
Could you please repeat it? I don’ t understand it. I have a question.

g% K¢ | ¥ HE 2% (Scientific Method)

BL% Observe># i Ask a Question>73#| Make a Predition—>

37234 Make aPlan># 73+ % Make a Plan—> % 4% % Record the Results
S>ERI(L ¥#:+4) Try the Plan Again>4#% ' %% Draw a Conclusion.

¥FLE ¥ 7 4% (scientific inquiry process)

1~ Fﬁ—r}*ﬂ‘i . twancer | >
. . Ty ’ S iosher
(conflrmatlon inquiry) _— ﬁ e

C BT % Inquiry Cycle E,%

(structured inquiry)

3~ 5l BpIE g | - —

1iisten | discover |

(guided inquiry) il o

, 1 pisn
4 B fl | = &
S

. . "_i [ "\‘7
(open inquiry) @ .

LB g fe it %% (Science Process_Skill Instruction)

(D (Observing); (2)i#] # (Measuring): () * % & /& & erakf % (Using
space time relationships) ; (4) @£ (Communicating) ; (5)4 #g
(Classifying) ; (6)3gRI(Predicting) ;5 (7)) * #= (Using numbers) ;

(8)3# (Inferring)
Unit 1 *The Solar System = I %
star (Mercury. Venus. Earth. Mars. Jupiter. Saturn. Uranus. Neptune)

*The story of constellations % A:#=%

*Twelve Constellations 12 %

(B #8& Y Capricorn. k#g& MM Aquarius. B4 & H Pisces
$E A P Arie. 423 8 Taurus. B+ & II Gemini

E {4 9 Cancer. ¥+ & 4 Leo . ms* & M Virgo
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4= £ Libra . *#g& M, Scorpio . %4+ & ' Sagittarius )
XHow to find the Polaris in the sky?4r#® Z3 # 4% (Cassiopeia
ihe @ . Little Dipper | j= A&. Big Dipper = j: & )

Key Vocabulary:

Polaris. Cassiopeia . Little Dipper. Big Dipper . telescope

Unit 2 *Animal Group # 4 &4 522 ;% i (mammal. bird. amphibian. reptile.
Aminals | fish. insect)
*Animal Grow and Change # 4~ = £ g7 8 1L
*Why do animals act and look the way they do?#: i ci&# ~ if B2 iz %
XHow do animal stay safe? # 42 53 30
*Animals make new babies. # 4 % 78 (Oviparity “F 4. Viviparity *24 )
¥Animal dichotomy #: 4= = 4 ;%
Key Vocabulary: mammal. bird. amphibian. reptile. fish. insect.
Shelter. Adaptation. Camouflage. Hatch. habitat
Unit 3 X¥Air 1s a matter. It has mass and takes up space.
water XWhat are some properties of liquid?
solution *Some solids dissolve ,or mix completely into the liquid.
*water solution(acid solution & basic solution)
XDuring a neutralization reaction, an acid and a base react to form water
and a salt.
Key Vocabulary: dissolve. water solution. PH value
Unit 4 *What makes things move? 4@ iE 4~ 4818 6
Force and | *What are position and motion? i&# = 3\
Motion *How are forces different?7 f 53\ e

*What is speed? 4riw3t 5@ B
XFriction is a force that slows down moving things. Z#x4
Key Vocabulary:

Push. Pull. motion. position. speed. force. energy. Gravity. friction.




